

Prove that:

$$\int_{\mathbb{R}} \left(\frac{1}{x} - \frac{\sin(x)}{x^2} \right)^2 dx = \frac{\pi}{3}$$

Proposed by Ankush Kumar Parcha-India

Solution by Amin Hajiyev-Azerbaijan

$$\begin{aligned} \Omega &= \int_{-\infty}^{\infty} \left(\frac{x - \sin(x)}{x^2} \right)^2 dx = 2 \int_0^{\infty} \frac{x^2 - 2x \sin(x) + \sin^2(x)}{x^4} dx = \\ &= 2 \int_0^{\infty} L^{-1} \left\{ \frac{1}{x^4} \right\} (s) L\{x^2 - 2x \sin(x) + \sin^2(x)\} (s) ds \\ \text{Laplace transform: } L\{f\}(s) &= \int_0^{\infty} f(t) e^{-st} dt \end{aligned}$$

$$\text{Inverse Laplace transform: } L^{-1}\{F(s)\}(t) = f(t) = \frac{1}{2\pi i} \lim_{T \rightarrow \infty} \int_{\gamma - iT}^{\gamma + iT} e^{st} F(s) ds$$

$$L\{t^n\}(s) = \frac{n!}{s^{n+1}}; L^{-1}\left\{\frac{a}{s^m}\right\}(t) = \frac{a t^{m-1}}{(m-1)!} \rightarrow L^{-1}\left\{\frac{1}{x^4}\right\}(s) = \frac{s^3}{3!} = \frac{s^3}{6}$$

$$L\{x^2\}(s) = \frac{2!}{s^{2+1}} = \frac{2}{s^3}$$

$$L\{t^n \sin(at)\}(s) = (-1)^n \frac{d^n}{ds^n} \left(\frac{a}{s^2 + a^2} \right) \rightarrow L\{2x \sin(x)\}(s) = \frac{4s}{(s^2 + 1)^2}$$

$$\begin{aligned} L\{\cos(at)\}(s) &= \frac{s}{s^2 + a^2} \rightarrow L\{\sin^2(x)\}(s) = L\left\{\frac{1}{2} - \frac{\cos(2x)}{2}\right\}(s) = \\ &= \frac{1}{2s} - \frac{s}{2(s^2 + 4)} = \frac{2}{s(s^2 + 4)} \end{aligned}$$

$$\Omega = 2 \int_0^{\infty} \frac{s^3}{6} \left(\frac{2}{s^3} - \frac{4s}{(s^2 + 1)^2} + \frac{2}{s(s^2 + 4)} \right) ds =$$

$$= \frac{8}{3} \int_0^{\infty} \frac{1}{s^2 + 1} ds - \frac{8}{3} \int_0^{\infty} \frac{1}{s^2 + 4} ds - \frac{4}{3} \int_0^{\infty} \frac{1}{(s^2 + 1)^2} ds =$$

$$= \frac{8}{3} \cdot \frac{\pi}{2} - \frac{8}{3} \cdot \frac{\pi}{4} - \frac{4}{3} \cdot \frac{\pi}{4} = \frac{\pi}{3}$$